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Total Time Allowed : 2 hours 30 minutes Total Maximum Marks : 500
Read the following instructions carefully before you begin to answer the questions.

IMPORTANT INSTRUCTIONS

1. The Competitive Written Examination has the follov-ving two papers.
Paper I (Time Allotted — 90 minutes)

Subject No. of Questions Maximum Marks Negative Marks
Mental Ability Test 100 200 There will be no negative marks in
(two marks for every correct this paper
answer)

Paper II (Time Allotted — 60 minutes)

; Subject No. of Questions A Maximum Marks Negative Marks
\
| General Awareness 50" . 150 One negative mark for every wrong
? (three marks for every answer
: correct answer)
English Language ) : 50 150 One negative mark for every wrong
i (three marks for every answer

correct answer

2 For.Competitive Written Examination Candidates will be provided Question Paper during the following Sessions :
Session I — Paper.] — between 10:00 A.M. and 11:30 A.M.
Session II — Paper II — between 11:45 A.M. and 12:45 Noon
Separate OMR sheets will be given for each Session.
\ After end of each Session, Question Paper will have to be returned to Invigilator.
j 3. Prior to attemptmg to answer, the candidates are requested to check whether all the questions are there in series and ensure there are no
]
]
1
I
1

"blank pages in the question booklet. In case any defect in the Question Paper is noticed, it shall be reported to the Invigilator
immediately and get it replaced with a complete Question Booklet.

4. You must write your Admit Card No. in the space provzded on the top right side of this page. Do not write anything else on the
Question Booklet.
" 5. Each question comprises four responses (A), (B), (C) and (D). You are to select ONLY ONE correct response and mark in the OMR
:L Answer Sheet. Your total marks will depend on the number of correct responses marked by you in the Answer Sheet.
6. In the OMR Answer Sheet there are four cxrcles@ ® @ and @ against each question. To answer the questions you are to mark

with Blue or Black ink Ball point pen ONLY ONE circle of your choice for each question. Select one response for each question in the
Question Booklet and mark in the Answer Sheet. If you mark more than one answer for one question, the answer will be treated as
wrong. e.g. If for any 1tem is the correct answer, you have to mark as follows :

@000

g You should not remove or tear off any sheet from this Question Booklet. You are not allowed to take this Question Booklet and the
Answer Sheet out of the Exammatmn Hall durwg the tlme of wntt;en examination and After the examination is concluded, you must

E—

8. Do not make any mnrkmg in the question booklet except in the sheet(s) before the last page of the question booklet,

which can be used for rough work. This should be strictly adhered.
! 9. In all matters and in cases of doubt, the English version is final.
i 10. Failure to comply with any of the above instructions will render you liable to such action or penalty as the Competent Authority,
‘ CECRI may decide at own discretion. .
T' 11. I have read the important instructions given above and agree to the.above.
|
Invigilator’s Signature Candidate’s Signature with date
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1. FrefoRea sttt & fogw we s1ew i va @y :

PGO, QHP, RIQ,
(A) SRO (B) LEK (C) DJP (D) SJR

g Ifd E, 22 3t MEN, 49 2, af PEN #1287
(A) 48 B) 46 (C) 52 (D) 60

3. afe BAT, 462 3 Z, 52_%,&TAP%9%W%?

(A) 48 B) 54 ' (C) 74 D) 72

4. Iz 0 = 16 ®, FOR = 42 8, @ FROM fefes st 87
(A) 56 B) 78 (C) 62 (D) 73

5. Ife CAR, 59, @ VAN =?
(A) 22 B) 44 (Crose) (D) 52

6.  TEET WIH F weH 1 SN T FW gC AR J e, T, B A A8 7 9 1 3H TS

Heforeh & gaU R 27
A) =& | (B) e
(C) == T (D) et

7. oS o e 8, el i w21 e, G R 2, S o w1 gehear Wi 31 Feanh F
a7¥ireh & fewam @1 27

(A) =T (B) Ut - (C) W (D) @™
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Paper-1
MENTAL ABILITY TEST

Find the missing code letter from the following response:
PGO, QHP, RIQ,
(A) SRO (B) LEK (C) DJP

IfE is 22 and MEN is 49. Then what is PEN?
(A) 48 B) 46 (C) 52

If BAT is 46 and Z is 52, then what is TAP equal to?
(A) 48 (B) 54 : {4y SR

If O = 16, FOR = 42, then what is FROM equal to?

A 56 (B) 78 , ©) 62

If CAR is 59, VAN =?
@A) 22 B 44 (€) 36

@)

D)

D)

D)

D)

GET IT ON
Google Play |

SJR
60
72
73

52

Pointing to a boy receiving the prize, Madhulika said “He is the brother of my uncle’s

daughter. Who is the boy to Madhulika?
(A) son (B) Dbrother-in- law

(C) cousin (D) nephew

Meera who is the sister in law of Ashok is the daughter in law of Kalyani. Krishna is the
father of Suresh who is the only brother of Ashok. How is Kalyani related to, Ashok?

(A) aunt (B) wife (C) mother

D)

mother in law

JSA-I
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g A iR st o 81T % 8 ST R A e 1 v e o e A 2 100,
aﬁaﬁwﬁw%lﬁ%mawﬁwm%?

A
©)

kel . b (B) s
‘Ti?»ﬁ | ‘ (D) qrdft

9. 7, 10, 8, 11, 9, 12.... 38 3vft &, 3y7elt g &1 Breft?

4)

7 - ® 13 © 12 D 10

10. 2,67, 20, 30, 42.... 9 9vit & fIgqq @& &1 ya1 913U

A 12 B2 B) 16
3 A8 . : D) 24

11. F2, . D18, 054,3162389}uﬁﬁ@1@ﬁmﬁaﬁq—aﬁwanafﬁ? .
(A) Alé (B) G48 (C) Ee6 (D) G36

12. 1056 T S S aTelt =Faw SET 41 2, d1fh 36 Fo TreT d 23 FrRra @ w7
A 2 B B) 3
(C) 18 (D) 21

13. iR F-eh e, o35 8 e At 87

8, 27, 64, 100, 125, 216, 343

(&)

27 . (B) 100 ©) 125 (D) 343

14. @m%mmaﬁﬁmmﬁaﬁ%m(mﬁm)%m,mwﬁaﬁrﬁélﬁ%lsam
@%@aﬂsmﬁﬁ?ﬂmm,ﬁlﬁ%ﬁw?ﬁm,ﬁnﬁﬁﬁqf@ﬁm‘iﬁﬁqﬁiﬁﬁﬂaﬁ

M7
@A)
(B)
©
D)
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Ram and Lakshman are brothers. Ram’s son Anand has a sister named Prabha. Prabha
has two children named Ajit and Kamala. Preethi is the sister of Ajit’s mother. How is
Preethi related to Lakshman?

(A) daughter (B) sister in law
(C) niece (D) grand daughter

In the series: 7,10,8,11,9,12... what number éhOuld comeAnext?
A 7 (B) 13 (O 12 (D) 10

Find the missing number in the series : 2, 6, ?, 20, 30, 42

A 12 B 16

© 18 ®) 24

In the series: F2, , - D18, C54, B162 what number should fill the blank
(A) Al6 (B) G48 (C) Ee6 (D) G36

What is the least number that should be added to 1056 so that the sum is completely
divisible by 23?

A 2 B) 3
(C) 18 D) 21

Which of the following numbers does not fit into the pattern of the series :

8, 27, 64, 100, 125, 216, 343
(A -2 (B) 100 (C) 125 : (D) 343

The Principal of a school has received complaints about bullying in the school during the,
lunch break. So he asks a Senior Teacher to watch closely and report to him. Which of the

following situations should the Teacher report to the Principal?

(A) A girl is sitting glumly on a bench and reading and not interacting with her peers

(B) Four girls are surrounding another girl and seem to have possession of her school bag
(C) Two boys are playing a game of basketball and arguing over the last basket scored

(D) Three boys are huddled over a handheld video game which is not supposed to be used
in school

5 JSA-1
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15. < Gtk % yeal 1 GeY, U GEH S Gfe & wsal & 2| 9 Y Har & vsal i qY FH arel 68 I 9@l

ey

Bl C i s A S S L

gt @S ?

A) = (B) W& (C) = D) fa™

16, freRan e 3 R 3 e w3 e, S S A 9 -

diferan : aa
(A) =TEfE : & (B) @@ ;@
©) aeA:Fd (D) 9T ; AiGTSH
17. o v de & forg sienfiex gar 2, 36 v % for fesrgae gran 21
@) f (B) =g () fem (D) Ts

18, 1 R T wekl % SIS ¥ GHH Gay e HHaTe SIS H g -

BINDING: BOOK
(A) 7ot : B) e :
©) wm:fa3 D) i gedter

19. AP RX SNz wifsiasdiSeitz maiasd Ashponidazfir Afatsindard
P it atfeh 3 2 327 '

Aa) A B X © S D) Z

20. A B, C,D3NME whaawad A, BHF @ da1?1 C, D F wrel § 431 81 D S0 o il 6§ ST
R E F g 7€ 321 21 et ol A Bfm R C R1 A, B 3R E i afeft s A Cam a3 gl A

e feurfa s a1 27
(A) B3RD&wed (B) BIRCHua#
(C) E3mDFuaa# (D) CIREFHed

21. = & wrd wfafsan # qu e svar %1 9a1 TSy -

SCD, TEF, UGH, , WKL
(A) CMN (B) Udl (C) VIJ (D) IJT

JSA-1 PR
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The words in the bottom row are related in the same way as the words in the top row. Find
the word that completes the bottom row of words.

Candle Lamp Floodlight
Hut Cottage 2?7
(A) tent (B) city (C) house (D) dwelling

Choose the pair that best represents a similar relationship to the one expressed in the
following pair of words :

JAUNDICE: LIVER
(A) dialysis: kidney (B) rash : skin

(C) valentine : heart (D) imagination: brain

Odometer is to mileage, as compass is to
(A) speed (B) hiking (C) direction (D) needle

Choose the pair that best represents a similar relationship to the one expressed in the
following pair of words: BINDING: BOOK '

(A) criminal : gang - (B) display: museum

(C) frame : picture : ' (D) nail : hammer

AP R X SandZare sittirfg in a row. S and Z are in the centre. A and P are at the ends.

- R is sitting to the left of A. Who is at the right of P?

4) A B X © S D) Z

A, B, C, D and E are sitting on a bench. A is sitting next to B. C is sitting next to D. D is not
sitting with E who is on the left end of the bench. C is on the second position from the right.
A is to the right of B and E. A and C are sitting together. In which position is A sitting?

(A) between Band D : (B) between B and C
(C) between E and D (D) between C and E

Find the missing code letter from the following response:

SCD, TEF, UGH, , WKL
(A) CMN (B) Udl (C) VIJ (D) T1JT

7 JSA-I
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22. aﬁﬁ%m%ﬁﬁaj@maﬁ%@wq@aﬁwmmﬁ?@aﬁ@mﬁaﬁﬁaaﬁgﬁq~
NN EEE XY I =E

L 9

2.

=3
3. O
R
A 1 B 2 ©) 3 (D) 4

93. U A % 9N =AREAl H1 3, TH WA GAT @ T M T F g o 7 hY gars @ 2 RWH
firgare ) 7 AT T 81 J 3 Ran 6 el £ ond e 1 S o d {1 7R M, J§ s e
SEerdl & 3N J 9 S | S SEerd 8 3 S FEl 87 :

(A) mFIBHiassd B) =W e
(C) = amA @) A s feem A

24, Hﬁ{SEARCHH%ARECSH_%@TEHHT%,?ﬁaﬁaﬁEﬁNAGPURH%%ﬁ%@TmﬁTH?
(A) GPURAN (B) AGNURP (C) GPAUNR (D) RUPGAN

95, uf2 fdt e d SHORT & TIRVY foran s 2 at 3 g § LONG %t & foran s ?
(A) ONLG (B) KNMF (C) MQQK (D) NRQJ

96.  YeEHIE F fram # svereTen i gaen #, Frefafad wedi i et i

1.  ‘Drum

2.  Drubbing
3.  Drunken
4. Drudgery
B. Duster

IEETR
(A) 3,1,5,4,2 B) 2,4,1,3,5 (© 1,3,4,5,2 D) 2,1,4,35

. JSA-I ' 8
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22.  Look at the following sequence of symbols to find the pattern. Select the symbol which
completes the correct pattern

NaINEEEE Y =R

L
=3
2
3. O
4. AN .
A 1 ®) 2 € 3 (D) 4

23. A four person crew from a contractor are painting a house. M is painting the front of the
house. R is in the street behind the house painting the back. J is painting the windows on
the north. S is on the south. If M switches places with J and J then switches places with S.

Where is S now?

(A) in the street behind the house (B) on the north side of the house
(C) in front of the house (D) on the south side of the house

24. If SEARCH is written as ARECSH, then how will NAGPUR be written in the same code
(A) GPURAN (B) AGNURP (C) GPAUNR (D) RUPGAN

25 If in a certain code SHORT is written as TJRVY. How will LONG be written in the same
code * '

(A) ONLG (B) KNMF ‘(C) MQQK (D) NRQJ

26.  Arrange the following words in the sequence if arranged alphabetically as per the order in
the dictionary.

1 Drum

2 Drubbing

3. Drunken

4 Drudgery

5 Duster

Options

(A) 3,1,54,2 B) 24,1,3,5 (©) 1,3/4,52 D) 2,1,4,35

JSA-I
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97, uf Preferiae wsal Y, reawrr o forem i sverTen S At foRn e, al HI -1 7se 3= § ¢
(1) Guarantee
(2) Group
(3) Guard
(4) Groan :
(A) Guarantee (B) Group (C) Groan (D) Guard

08. e Afeaa ysdt #1, YeEw % Fan % ed FHIE % FIAR e BT Y, q HH-F <,
Tt = T smRAm?
(1) magical
(2) magnify
(3) material -
(4) magnetic

(A) magical - (B) magnetic (C) material (D) magnify

29. 1 &y wregadl i areigh y@en H =EfR i
SIENE]

TR

=4

Fafew

foqmam
ATaE I

A) 563241 B) 564,231 © 562341 D) 6,54,2,3,1

D> oA W D

30.  oreqaTed 1erl i e weal 1 syafeyq hifo | iR, wed firs =t g -
(A) DOGL (B) TSEVO (C) ENZROB (D) LVREIS

31. Frfafaa veal i sreig fram § safea Hifse -

1. whiaad

2. Hegurid

3. Tomifem

4. R

5. WA

(A) 3,5,24,1 (B) 25,3,1,4 ©) 25,143 D) 1,2,35,4

JSA-I ' 10



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

_Adda

247

GET IT ON
Google Play

27.

28.

29.

30.

31

@ 563241 B

If the following words are arranged alphabetically as per the order in the dictionary, which
word will be the last word?

(1) Guarantee

(2) Group
(8) Guard
(4) Groan

(C) Groan (D) Guard

(A) Guarantee (B) Group

If the following words are arranged alphabetically as per the order in the dictionary, which
word will be the second word.

(1) magical
(2) magnify
(3) material
(4) magnetic
(A) magical (B) magnetic (C) material - (D) magnify

Arrange the words given below in a meaningful sequence.

(1) Probation :

(2) Interview

(8) Selection

(4) Appointment

(6) Advertisement

(6) Application

(D) 6,54,2,3,1

5,6,4,2,3,1 (C) 5,6,234,1

Rearrange the jumbled letters to make meaningful words. Then select the one which is
different.

(A) DOGL " (B) TSEVO (©) ENZROB (D) LVREIS
'Arrange the following words in a meaningful order
(1) Colonel
(2) Field Marshal
(3) Brigadier
(4) Lieutenant
(5) General _
(A) 385241 B) 25,314. ©C) 256,143 D)y 12364
11 JSA-1
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32.

33.

34.

35.

36.

37.

38.

39.

40.
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afg ROME &1 aﬁa 6821 %, PARIS %1 #1€ 94657 £ 3t SHAME 1 %18 73421 &, &
1 IS BITTY :
(A) 246173 (B) 214673 (C) 257349 (D) 216473

80 fop. 1. wftr wer <t ifcy & Se=Telt R, T A1 9w H ol Fdt 21 3¢ gh =, w
ﬂﬁrﬁa?ﬁqzmmma?ﬁ?

@ 108 = ® s® © 12 ©) 16

o 125 vhet et Yo, 5 .o, R o R Yol o o & et e = A
At 2 | Tl st e 27 i
&) 45 /R B) 55 ff. /e (©) 50 fE/sfider (D) 54 F6

Tk SIS, T TAicH i 36 Thvst § YR Hldl & 3R WHICHH W @S T =4l i 20 25
21 afe e i nfa 54 .. vfe g1 2, @ wiew i v fra 27

(A) 120 (B) 240 (C) 300 4. D) ‘,if‘_

I 9T Tt U Hig i Sl W, 12 Hiet S0 i e & Fud wm w o ) af fidt
2, A Har & Foret gt Wl sl v welt e 272

@ 7dw (B 10 ©) s ©) s

gt A T, aftnn i oiR 12 f o e & ﬁ:{mﬁ#sﬁtgms&t&.’
o | qrfet oTR geat 12 fon.o. mﬁaa%nmg:r g ardt 3R ger ik 9 fo..
fopart gt T 37

(a) 12 s, ®) 15 fop . ©) 24 o, 1))

& : f‘"
s e, T 13 3./ R R e 21 7 e 1 4 ./
A4 1 IR (e =ed 8 g A e ang wfi? :
A) 2% B) 3% € 4= (D) 5%

ek gl 3 SeRaTelt Jiet e i i 15 .. afd wer 2, 9 gam i 29k 30 B s
w2 3R 30 fire 4 anfyw a1t 8| 6w (Fg@) i afa 6.t /wfagarang?

(A) 4km/hr ®) 5km/hr (€) 6km/hr © 10

fopeft fordw e  JUG 1 %S 10217 1 3¢ e i CUP %1 3 fora smam?
A) 17914 (B) 32116 (C) 25514 (D)
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33.

34.

35.

36.

317.

38.

39.

40.

If ROME is coded as 6821, PARIS is coded as 94657 apd SHAME is coded as 73421, what
will be the code for MISHAP?

(A) 246173 (B) 214673 (C) 257349 (D) 216473

A car travelling at a speed of 80 km per hour can complete a journey in 9 hours. How long
will it take to travel the same distance at 60 km per hour.

(A) 10 hours (B) 8 hours (C) 12 hours (D) 16 hours

A train 125 m long passes a man running at 5 km per hour in the same direction in which
the train i1s going, in 10 seconds. What is the speed of the train?

(A) 45 km/hr (B) 55 km/hr (C) 50 km/hr (D) 54 km/hr

A train passes a platform in 36 seconds and a man standing on the platform in 20 seconds.
If the speed of the train is 54 km per hour, what is the length of the platform?

(A) 120m (B) 240 m (C) 300m (D) 360 m

A ladder is resting on the ground with the top end in contact with the top of a wall of a
height of 12 metres. If the length of the ladder is 13 metres, at what distance from the wall

is the base of the ladder on the ground.
(A) 7 metres (B) IQ metres (C) b5 metres (D) 8 metres

Sundar started from home and .cycled 12 km southwards, turned right and cycled 6 km and
again turned right and cycled 12 km. Then he turned left and cycled 9 km. How far is he

from the starting point?
(A) 12km (B) 15km (C) 24km (D) 25km

A boat can travel at a speed of 13 km/hr in still water. If the speed of the stream is 4 km
per hour, find the time taken by the boat to travel 51 km downstream?

(A) 2hours (B) 3 hours (C) 4 hours (D) 5 hours

A motor boat whose speed is 15 km/hr in still water goes 30 km downstream and comes
back in a total of four hours and 30 minutes. What is the speed of the stream in km/hr?

(A) 4 km/hr (B) 5 km/hr (C) 6km/hr (D) 10 km/hr

In a certain code JUG is coded as 10217. How will CUP be written in thé same code?
(A) 7914 (B) 32116 (C) 25514 (D) 20116

-

13 JSA-1
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41. 399 % 0 AT U S T A I HHA 50 Y 2| GorH 79 == h1 37 F0E7
(A) saﬁf B) 4T (©) 109 (D) 16<9

42 qmﬁmaﬂxa&é\ag—z’ﬁaﬁma@m@amaﬁ%l@ a4 d, ﬁmaﬁm,garﬁﬁsgmaﬁl@ FH aRE, T
6 g FATRAN?
A 1294 B) 1498 (C) 18=d (D) 2099

43, Freaferfas § Q9 o den, Aof 3 1 e 7 dadt?
396, 462, 572, 427, 671, 264
(A) 396 (B) 427 (C) 671 (D) 264

44. A 3R B Y (), Th A I, FAM: 6 3R 12 HEl F W Fehell & | AR S Al Bl ThATS Eied @
2 =1 9@ | TR g e ?
(A) 592 (B) 8% (C) 4% (D) 1092

45. é:mq"rmﬁa,@@tamwwﬁmﬁ270@ﬂaﬁmmmmﬁlwam,:{mm%
10 9=, 4 fiFe ¥ farat Siae =i 3eared s gl 87
(A) 648 . (B) 1200 (C) 1800 (D) 2700

46. T % U, o T 3 R, ui ST ¥ s 3 7w w90 % Rl # Rs. 960 qeaart ) weks geaat
Tt < e IR B | 3T 9TE TR e €7
(A) 90 - (B) 120 ey B (D) 180

47. 150%@&@@%%%45%@@%% 10 &7 =g, 25 U serfoem Ses =« )
areh! s @ fead fo s ?
(A) 29 B) 37 (C) 42 (D) 54

48. 39 =t vR R 5 62 Fw 0k, 12 B u O 4 5 gy §| 39 w5 R, i B 6 9 W a1,
30 =fh foraa fam & svme QU X hd 27
(A) 10 (B) 13 (C) 14 D) 15

49. U YHW ® AR 5 HEH % fT Rs. 6,927, Rs. 6,855, Rs. 7,230, Rs. 6,435 31T Rs. 6562 & fosh
Bl 81 B¢ 7EH A 3geh! fopert forshi 81 =g, aifer 3uehl Rs. 6,500 i 3irga forshl g1 gah?
(A) Rs. 4,991 (B) Rs. 5,991 (C) Rs. 6,001 (D) Rs. 6,991
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The sum of the ages of 5 children born at intervals of 8 years each is 50 years. What is the
age of the oldest child?

(A) 8years (B) 4years (C) 10 years (D) 16 years

The sum of the present ages of a father and his son is 60 years. Six years ago, the father’s
age was five times the age of his son. After six years, what will the son’s age be?

(A) 12 years (B) 14 years (C) 18 years (D) ' 20 years

Which of the following numbers does not fit into the pattern of the series?
396, 462, 572, 427, 671, 264
(A) 396 (B) 427 ) 6Tl D) 264

Two pipes A and B can fill a tank in 6 and 12 hours respectively. If both the pipes are
opened simultaneously, how much time will it take to fill the tank?

(A) 5 hours (B) 8 hours . (C) 4 hours (D) 10 hours

Six identical machines running at a constant rate can produce a total of 270 bottles per
minute. At this rate how many bottles can 10 scuh machines produce in 4 minutes?

(A) 648 (B) 1200 (C) 1800 (D) 2700

A man has Rs. 960 in denominations of one rupee coins, five rupee coins and ten rupee
coins. The number of coins in each denomination is equal. What is the total number of coins

that he has?
(A) 90 B) 120 (C) 150 D) 180

A battalion of 150 soldiers had provision of food to last for 45 days. After 10 days,
95 soldiers left the battalion. For how many days will the remaining food last?

(A) 29 B) 37 (C) 42 D) 54

39 persons can repair a road in 12 days, working 5 hours a day. In how many days will
30 persons, working 6 hours a day, complete the work? '

(A) 10 . (B) 13 © 14 (D) 15

A grocer has a sale of Rs. 6,927, Rs. 6,855, Rs. 7,230, Rs. 6,435 and Rs. 6562 for
5 consecutive months. How much sale must he have in the sixth month so that he gets an

average sale of Rs. 6,5007

(A) Rs. 4,991 (B) Rs. 5,991 (C) Rs.6,001 : (D) Rs. 6,991

15 : JSA-1
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11 wedt i w e A % HEH 1 37 26 79 2| Rtk Aay, FAE F 3 7 w21 B1 AR 7 A R A

50.
affa i e, @ sreh) Raenfeadt < sitad a1Ry, o 2 o sitad 3T & U o 9 2| AW Al SfEd 2
w87
A) 23ad (B) 2474 (© 25 D) 214
51, W UZ1 GHE 1 SgUA O ST 8, a9 PR, WeRH HIfish % I araashi Sedres U gHiTa W,
Iua foeg, Fiftfs w s e €1 Frafafaa sm - feufd, T TS GHEN % IgE ol dgalid SaTe 87
(A) T gE WE T e T, Wﬁwmﬁwm%%%aﬁnﬁ@aﬂ
G 90 GRS T ST =l
(B) ﬁwimﬁﬁaﬁqﬁw@ﬂhmuﬁﬁﬁéww@zﬁw 4t 3T TR Hifee EN e
wrftren R w fafa w0 3 genfa &) weg fortan 3 & 9%
(€) @ﬂaﬁwmﬁ.w%@m%mﬁwﬁzﬁ,ﬁﬂwﬁﬁaﬁ%mmﬁmm,w
foreg %2 freprard ferf
(D) o e & o, e e fored e st R v R, e < o 1 98 T AR
HaTE o o forg 3¢ et @
52. U TR whig W H
(i) ‘agnoscrenia’ @l 379 ‘Feliell whel @
(i) ‘delanocrenia’ %l 14 ‘S g™’ 2l
(iii) ‘agnosdeery’ =1 31 “{ff et 2| _
35 o, T § & -8 e w1 3rd s e el @t wha =7
(A) deeryclostagnos (B) agnosdelano
(C) agnosvitriblunin (D) trimuttiagnos
53. Uk fasi shie Wi H
()  slar %137 jump 2|
(i) slary =l ard jumping%l
(iii) slarendEFI?rT%fjumped%l
g s 3, Frw 3 & o wrsa 1 919l ‘playing’ € W /7
(A) clargslarend (B) clargy (C) ellaclarg (D) slarmont
54. T vTedl ¥ SIS g UIC I HeE o G G AT I7oq o foehed Sl gL -
ENRRIEER|
(A) 9rT A @®) fafes : iR
(C) SehIYT : A8 ; (D) el :ds
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The captain of a cricket team of 11 members is 26 years old. The wicket keeper is 3 years
older than the captain. If the ages of these two are excluded, the average age of the
remaining players is one year less than the average age of the whole team. What is the

average age of the team?
(A) 23 years (B) 24 years (C) 25 years (D) 21 years

Violating an Apartment Lease agreement occurs when a tenant does something prohibited
by the legally binding document that he or she has signed with a landlord. Which situation
below is the best example of Violating an Apartment Lease agreement?

(A) Ram has decided to move to another city, so he calls his landlord to tell him that he is
not interested in renewing his lease when it expires next month.

(B) Divya recently lost her job and, for the last three months, has neglected to pay her
landlord the monthly rent they agreed upon in writing when she moved into her

apartment eight months ago
(C) Suresh writes a letter to his landlord that lists numerous complaints about the
apartment he has agreed to rent for two years.

(D) Priva thinks that her landlord is neglecting the building in which she rents an
apartment. She calls her lawyer to ask for advice.

In a certain code language,

(i) ‘agnoscrenia’ means ‘poisonous spider’

(ii) ‘delanocrenia’ means ‘poisonous snake’

(i1i) ‘agnosdeery means ‘brown spider’

Which of the following words could mean ‘black widow spider’ in that language?

(A) deeryclostagnos (B) agnosdelano
(C) agnosvitriblunin (D) trimuttiagnos

In a certain code language

(1) slar means jump

(1) slary means jumping

(iii) slarend means jumped

Which of the following words could mean ‘playing’ in that language?

(A) clargslarend (B) clargy .~ (C) ellaclarg D) ‘slarmont

Select the option in which the words share the same relationship as that shared by the
given pair of words : : .

lick : CANDLE
(A) Thread : Wool (B) Lead : Pencil
(C) Light: Darkness (D) Quick : Rapid

17 JSA-I



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addal247

55.  WYH 31 YeR1 1 Teh GEL I WY HaY S 16 W16E § HHH Hag TETE i 91 768 27
Wﬁﬁi‘lﬂ:ﬁ‘a::ﬁ?ﬁﬂﬂ
(A) =M B) (©) usht (D) WY

56. e foshed &I gHT -
TITER ; FHEHR : : 66
(A) TEm (B) HTeER ©) TR (D) IR

57.  udfee B g -
BIGE : JQOM : : RCMF:?
(A) AGFD (B) ZBDX (C) ZKUN (D) TRUZ

58. R el & F u vee g, It R o wredl ¥ e @ iR mRmwE S amE F E -
i : geg-foagm « . faferor - ~frcan-fagm : Jafegm
A) fasE (B) shafegm (©) hr-fagm (D) wwfifamm

59. e TohH, BTe oA W 3 991 Rs 815 81 STl & 371X 4 991 A Rs 854 &1 9! 8| Fawr i 18 o w27
(A) Rs. 650 (B) Rs. 690 (C) Rs. 698 (D) Rs. 700

60. U UIEHR, T & oA o W W G oA W, A Fi 2 9§ & 7 Rs. 5,000 318 3R B =l 498 & ferw -
Rs. 3,000 318154751 % %98 38 A 3 B & 4 Rs. 2,200 318 €I &1 il N <311 7 2 Tl AT -

A) 5% B) T (C) 10% D) 11%

61w T, T, v R S et 3 w0 g 55 7 : 8 31 € F FE: 40%, 50%
3R 75% B TG 1 TS T | S A fora 3 w1 gu Hiel s S1gara  erm? |
(A) 2:3:4 (B) 6:7:8 (C) 6:89 (D) 4:5:6

62. T 3fi giwr i 3 1 UG 2 : 3 B1 A WA I 7 B Rs. 4,000 F wren fam s o, 7240 Siguma
40 : 57 S ST | G916 91 T FT 77
(A) Rs. 17,000 (B) Rs. 20,000 (C) Rs. 25,500 (D) Rs. 38,000

63. @Wﬁﬁaﬁmmﬁwm%% 550 St =it Ffearer F@ i 450 St Fi < (|Yqz ) ST
3t 300 St ot Fafeare ot agg ae, ST ST 9= 8 | TNETERR o ST <l el G Tdl sy ~

(A) 700 B) 725 (C) 750 (D) 600
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55.  Which bears the same relationship to the third word as the first two bear to each other.
Botany : plants : : Entomology: ?
(A) snakes (B) insects (C) birds (D) germs

56. Choose the correct alternative.
Monday : Saturday :: Thursday:?
(A) Sunday (B) Tuesday (C) Wednesday (D) Friday

{3 Choose the correct alternative.
BIGE: JQOM :: RCMF:?
(A) AGFD (B) ZBDX (C) ZKUN (D) TRUZ

58. Choose a word from the given alternatives that is similar to the given words and hence
' belongs to the same group
Pathology : Cardiology: Radiology : Ophthalmology
(A) Geology ~ (B) Biology (C) Haematology (D) Zoology

59. A sum of money at simple interest amounts to Rs 815 in 3 years and Rs. 854 in 4 years.
What is the sum invested?

(A) Rs. 650 (B) Rs.690 (C) Rs. 698 (D) Rs. 700

60. A moneylender lends Rs. 5,000 to A for 2 years and Rs. 3,000 to B for 4 years on simple
interest at the same rate of interest. He received Rs. 2,200 in all from both A and B as

interest. Find the rate of interest per annum.
(A) 5% ®B) 7% © 10% M) 11%

61.  Seats for Mathematics, Physics and Biology in a school are in the ratio 5:7:8. There is a
proposal to increase the seats by 40%, 50% and 75% respectively. What will be the ratio of

increased seats in these three subjects. _
A) 2:34 (B) 6:7:8 (C) 6:8:9 (D) 4:5:6

62.  The salaries of Ravi and Suresh are in the ratio 2:3. If the salary of each is increased by
Rs. 4,000, the new ratio becomes 40: 57. What is Suresh’s increased salary?

(A) Rs. 17,000 (B) Rs. 20,000 (C) Rs. 25,500 (D) Rs. 38,000

63. In an interview in a town, it was seen that 550 people like to visit the zoo and 450 people
like to visit the beach and 300 people like to visit both the zoo and the beach. Find the total

number of people interviewed?
(A) 700 (B) 1725 (©) 1750 (D) 600
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64. t{aﬁammﬂﬁ Rs. 360 ufd gsi4 9 20 gl figeia @ik | 367 w&« flaeia #1 Rs. 33 # =11 36% a9 &1

yfeerd = 27
A 7% B) 10% ©) 12% (D) 20%
65. U gHMER A, T ¥90 H 9% fewma & fier wiie | ush wyu # foran firar o= w, 38 20% =1 @ am?
A) ‘3 B) 4 © 5 D) 6
66. AN HHAR | 61 A AR EM?
(A) FuER B) wiHER (C) WiIeER (D) gewfdar

67. U AFATHRI W & 20 FIZ & U U&1 L ATST Tel ST 97| I8 Sl i Y&if ) Set S=man 5w 97| 3
WA 1 HT%d 68 W FIe &, dl fohae e & a1 it sravaear g ?

(A) 34 B) 40 (C) 68 (D) 88

68. A TH M FHI 4 621 H QU H FHAT &, B 3R C A1y fireient 36t & 1 3 62 A g wwd §1 A 3R C
a1y firera SH Fm Rl 2 92 H QU B | 31hen B 36 % 60 | e g @

(A) 8% ; (B) 1092 (C) 1292 (D) 16

69. = srfirwua (A) 3 ER (R) % fore @t fampeq 1 g -
HiWH (A) : T W hl T, TR H AT @ v G geren 2
FUA (R) : &2 1 fafie eearerdor, qrr @ sifes 2
(A) (A) 3R (R) 3H1 GET & (A) il Tet TR &
(B) (A) 3R (R) 31 @l § T, (R), (A) %1 Het Sasisheor e 8
(©) (A) &R g (R) Ted @
D) (A) 7T & 9 (R) ®&t 2

70. = srfirme (A) 3it R (R) % forg ot faere =1 gfie -
AR (A) : T T ) T T@T ST 2, o 98 g 8 T 1 G st
FYA (R) : 79 § At aeiEe dar |
(A) (A) 3 (R) TFT Gt & (A) 1 T Tfieror 2
(B)  (A) 3R (R) 21 &el & 0, (R), (A) F1 6 W 7
(C) (A) &€t 2 9g (R) Teid @
(D) (A) Ted 2 9 (R) 9t ?

71.  afe fEr-ufem, 39 adar 8, ST-ufvem, qd o Srar @ i gt wer areh) femd &= st § o ufvem @
T SRAM?
(A) IW-gd (B) 3W-ufwm (C) =fiqor-gd (D) cféor-ufrem
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64. A trader bought 20 dozen toys at Rs. 360 per dozen He sold each one of them at the rate of
Rs. 33. What was his percentage of profit?

A ™ B) 10% © 12% D) 20%

65. A shopkeeper bought sweets at 6 for a Rupee. How many sweets for a Rupee must he sell,
in order to gain 20%?

a 3 B) 4 © 5 D) 6

66. Today is Monday. After 61 days it will be?
(A) Wednesday (B) Saturday (C) Tuesday (D) Thursday

67. A rectangular field is to be fenced on three sides leaving one side measuring 20 feet
uncovered by fencing. If the area of the field is 68 sq ft. how many feet of fencing is re-

quired?
A) 34 (B) 40 (C) 68 (D) 88

68. A can do a piece of work in 4 hours. B and C together can do the same work in 3 hours.
A and C together can do the same work in 2 hours. How long will B alone take to do the

work?
(A) 8 hours (B) 10 hours (C) 12 hours (D) 16 hours

69.  For the Assertion (A) and Reason (R) below, choose the correct alternative
Assertion (A) : Aniron ball floats on mercury but sinks in water.
Reason (R) :  The specific gravity of iron is more than that of mercury.
(A) Both (A) and (R) are true and (R) is the correct explanation of (A).

(B) Both (A) and (R) are true but (R) is NOT the correct explanation of (A).

(C) (A) is true but (R) is false.
(D) (A) is false but (R) is true.

70. For the Assertion (A) and Reason (R) below, choose the correct alternative
Assertion (A) : When common salt is kept open, it absorbs moisture from the air.
Reason (R) :  Common salt contains magnesium chloride.
(A) Both (A) and (R) are true and (R) is the correct explanation of (A).
(B) Both (A) and (R) are true but (R) is NOT the correct explanation of (A).

(C) (A) is true but (R) is false.
(D) (A) is false but (R) is true.

i If South-West becomes North, North-West becomes East and so on. What will West

become?
(A) North-East (B) North-West (C) South-East (D) South-West

21 ' JSAT



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addal247

72. a"m aféur st i 15 et <ern 2, R a8 2t it qedt 15 Hiet e 21 R & 98 ot 31k gea 2
31 35 Hiet efl }1 Tk R iR 9 wif 3R geat 30 et S R1 s 97 arft i get 20 e
el 8 | 9 W T & foRw fe st b et gl @

(A) 4d5diufem (B) 30degd (©) 3so#Hi@ufem (D) 15X gd

73. @W%Mﬁéﬁﬁmﬁﬁ%aﬁﬁaﬁlsw%rﬁﬁmwmmm-
(A) 300 .9+t (B) 240 .94t (C) * 200 . g (D) 400 .94

74. A, B,C,D,E,F, G, 3R H %% $t 3T g 0, Juen d 383 3
1. A E#3fE 3 fefawmw st C ik Gausdd)
2. D, AwuSH T 2]
3. G, Fa&iverigl
4. B,DIRHFHaHER
5. H,F3RD A= R
(A) CG (B) FG (C) CA (D) BH

75. ﬁ%ﬁﬁmw&?ﬁmaj@mﬁmﬁﬁq—

1. gfew

2. e
3wy
TR <

5. g

A) 12345 B) 31,245 € 31,452 D) 543,21

76.  TF B 9, O ok FeHI & qel 39k, A A Terd I 301 AR 3T e 48 v ¥ WA b e R, Ay
39+ fohaa w1 el wel foan)
A) 12 (B) 16 (C) 18 D) 24

77, TH YR, Th NI T T GE % AHA-TIH @S S TR 3R fen wd o @ &) ARt fsew ) wets,
AT o At 7R o, o AR R i e T 27
A |- (B) ufvsm (C) 3IW (D) =R

78. 3R % SISl Wl g, d afHAl & e § Gaifa € -

(A) ==IH : O (B) @R : e
(C) weER : SfHsH (D) Hh : FH
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Deepak walked 15 m towards south. Then he turned right and walks 15 m. Then he turns
right and walks 35 m. Then he turns left and walks 30 m. Finally he turns left and walks
20 m. In which direction and how many metres is he from the starting position?

(A) 45 m West (B) 30 m East (C) 30 m West (D) 15 m East

Find the Area of a triangle where the length of the base is 40 cms and the height of the
triangle is 15 cms. : -

(A) 300sqcm (B) 240sqcm (C) 200sqem (D) 400 sqcm

A B, C, D, E, F, G, and H are sitting in a circle facing the centre.

1. Ais second to the right of E who is the neighbour of C and G
D is not the neighbour of A
G is the neighbour of F
B is not between D and H.

" H is not between F and D

B A

Which two of the following are not neighbours?
A CG (B) FG (C) CA (D) BH

Arrange the words given below in a meaningful sequence

Police

Punishment

Crime

Trial

Judgement

A 1,234,5 B) 3,1,2 4,5 (C©) 3,1,4,5,2 D) 5,4,3,21

il 2o A e

A student got twice as many sums wrong as he got right. If he attempted 48 sums in all,
how many sums did he solve correctly?

@A) 12 ®) 16 - (© 18 D) 24

One morning Kumar and Vikram were talking to each other face to face at a crossing. If
Vikram's shadow was exactly to the left of Kumar, in which direction is Kumar facing?

(A) East (B) West (C) North (D) South
Choose the pair of words which are differently related from the rest:
(A) Chandragupta : Mauryan ' (B) Babar: Mughal

(C) Mahavira : Jainism (D) Kanishka: Kushan
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79. 3 YAl o SIEl I g, S iRl & srer @ weita € -
(A) HSdl : HeuTed (B) gt : IrTEEl
(C) wywad! : nyHae! qreH (D) Yot firer : SRl e

80. K, L*zfamufremd 40 flexmBIM, L FeRmgd f a0 fimmBiat M, K fradt R 27
@A) (B) IW-d (€) IR-ufE=m D) zMwm

81. il # guw T 1 Freeg, wﬁwﬁmmﬁ%m%iwmmw =3 Hudt o 3R
Higat 3R 3= @i, ﬁﬁﬁ%ﬁ@ﬁ%@ﬁﬁﬁﬁﬁﬁéﬂ%lﬁﬂ%@ﬁﬁ@mﬁﬁﬁ%ﬂﬁ

ST T IR Tk TR ol STTeygehar a1t ?

(A) T et STel 9 BT -TrE @ A3 @ 3 S il gere! WaRA A R A
(B) et 3 gl % SHH, T el 3 TR 317 HRA1 % 1 @ 1 v fear

(C) U %dl, AR T 1 3Ta FaT @ SR @M F g 31 S F R see et s

(D) Ta % Tmd, Fd man @ 3K Fagan 8, 3k o St & iz e wwr e

82. AR B, TR A 3 :2 % Iigura # P e §1 AR pet o 1 5% T A R wrar 2 sl aw A @ A
1 9T Rs. 855 &, 9 Fet oy fohamn 27
(A) Rs. 1,425 (B) Rs. 1,500 (C) Rs. 1,576 (D) Rs. 1,537

83. A, B 3R C fres =R yiv @ 81 A, 6 Al & ¢ Rs. 6,500 T er 21 B, 5 wfdi & forw
Rs. 8,400 fiaw1 star 2 3t C 3 #fedi & 7w Rs. 10,000 Fdw otar 21 A afFg g & ok =R &
il o srereen 3 fora o # 5% WTH SaT & | Y16 M Rs. 7,400%|mﬁB%5-ﬂm$rwaTnsq—

(A) Rs. 1,900 (B) Rs. 2,660 (C) Rs. 2,800 (D) Rs. 2,840

84. Teforfigd § & S —ar qerd 71 27
@ ® © 2 o o
85. g?mﬁéwwﬁaﬁlmﬁ40%ﬁaéaﬁq1m%mmsﬁ420ﬁa§rm§mﬁswﬁai
?
(A) 588Fw (B) 600¥s (C) 6728w (D) 700 &=

86. U famiw Hre ® KNIFE %1 CDGLI foran sirar 2| 3¢ e §# MIRTH =i 38 forar sirar 27
(A) NPTJD ~ (B) GKQSA (C) FRPGK (D) ASKGQ
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79.  Choose the pair of words which are differently related from the rest:

(A) Fish : Pisciculture : (B) Birds: Horticulture
(C) Bees : Apiculture (D) Silkworm : Sericulture

80. K is 40 m south west of L. M is 40 m south east of L.. Then M is in which direction of K?
(A) East ' (B) North East (C) North West (D) South

81. Decisions about handcuffing or restraining inmates are often left to the officers involved.
An officer is legally responsible for exercising good judgement and for taking necessary
precautions to prevent harm both to the inmate involved and to others. In which of the fol-
lowing situations is handcuffing or physical restraint most likely to be needed?

(A) An inmate seems to have lost control of his senses and is banging his fists repeatedly
against the bars of his cell

(B) During the past two weeks, an inmate has deliberately tried to start fights with other
inmates.

(C) An inmate claims to be sick and refuses to leave his cell for his meal.

(D) During the night, an inmate begins to shout and sing, disturbing the sleep of other
inmates.

82. A and B invest in a business in the ratio 3:2. If 5% of the total profit goes to charity and A’s
share of the profit is Rs. 855, what is the total profit?

(A) Rs. 1,425 (B) Rs. 1,500 ' (C) Rs. 1,576 (D) Rs. 1,537

83. A, B and C jointly begin a business. A invests Rs. 6,500 for 6 months. B invests Rs. 8,400
for 5 months and C invests Rs. 10,000 for 3 months. A is the working partner and receives

5% of the profit for day to day management of the business. The profit earned was
Rs. 7,400. Calculate the share of B in the profit. '

(A) Rs. 1,900 (B) Rs.2,660 (C) Rs. 2,800 (D) Rs. 2,840

84.  Which of the following fractions is the largest?

7 13 31 63
@A - (B) 9 (C) = (D) =

85. A fruit seller had some apples. He sold 40% of the apples. He still has 420 apples. How
many apples did he have originally?

(A) 588 apples (B) 600 apples (C) 672 apples (D) 700 apples

86. In a certain code KNIFE is written as CDGLI. How will MIRTH be w-ritten in the same
code? ;

(A) NPTJD (B) GEKQSA (C) FRPGK (D) ASKGQ
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87. i Suiaarl I S wer S 1,136, 7,636 31 11,628 T TR Rrdven msiea 3 e A1 5 e

wierd afte gr? .
(A) 65% - (B) 60% ©) 57% (D) 90%

- 88. U 840 AftraAl % el H, 450 AT fawt vgHr a8, 300 =3fth 37 ug weha & 3K 200 =fE, i aik
STUSH G141 9 Hehd 8| 37 SAfhal ol T 1 2, S 390 A 1S ot w9 Sa ?
(A) 180 S e 210 (C) 260 (D) 290

80.  RAT fmr il fed Bropr §7

@ 11 B) 12 © 15 (D) 18

90. e @ W vis wreshi 4 Wi foran| T 3 e & vt 1 oA weeg it 3 ) qu fore | areiien 4 gt @ wedt
QU fean v A & S g fora | W@ # T v Wt srmn?

(A) ®) T (©) T D). Trw

91 i3 AT 1 ¥ 100 ek & 3iehl ! ford, | 3119 G&aT 7 1 fobam e for@m?
(A) 11 (B) 18 (C) 20 ; Dy 21

92. DILEMMA 19 s & 391 §, Ffafiga § @ #9198 wee i sqmu s g ?
(A) MAILED (B) MEDIAN (C) IDEAL (D) EMAIL

93. DAYTIME =8 s & 3780 °, Fe=rforfiad § 9 19 9 vise 991 & hd 27
(A) TIRED (B) DAMSEL
(C) STEAM (D) AIMED

JSA-I ' 26
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88.

89.

90.

91.

92.

93.

247

Three candidates contested an election and received 1,136, 7,636 and 11,628 votes
respectively. What percentage of the total votes did the winning candidate get?

A) 65% (B 60% - (©) 5T% (D) 90%

In a town of 840 persons, it was seen that 450 persons read Hindi, 300 persons read
English and 200 persons read both Hindi and English, What is the number of persons who
read neither language?

(A) 180 TR O (C) 260 D) 290 -

How many triangles are there in the given figure?

A 11 B) 12 © 15 (D) 18

Five boys took part in a race. Rajan finished before Mohan but behind Gautam. Ashok
finished before Sundar but behind Mohan. Who came second in the race?

(A) Ashok Y. Jendar (C) Rajan (@ ' Gautam

If you write down all the numbers from 1 to 100, how many times will you write the
number 7?7 : B 1

A 11 (B) 18 ©) 20 ° - (D) 21

Which of the following words cannot be formed from the letters of the word DILEMMA?
(A) MAILED (B) MEDIAN  (C) IDEAL (D) EMAIL

Which of the following words can be formed from the letters of the word DAYTIME?
(A) TIRED (B) DAMSEL

(C) STEAM (D) AIMED-
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94, = & o wfiemor ) wE @ & fou, 6 <1 fogl i sreet-see sl anEe?
(72 +18)+30x8 -4 =20 _
@) +s3i- B) .+ 3 x (€) x3M+ D) +3f+
95. %A i BIghL, Tk tormel i 1fd 108 3. 1iex ufd =er 3| Thae i mitel & W, 90 .41 ufa =
Tfa &1 Yo ufa wer, foraa firge & fore wepdi 27
@A 5 ; B) 9 () 8 (D) 10
06. AR EE 3 5 7% s i § Sh T T F 2 60, A A Femat 3 & wed w dem
Tl TTET - '
(A) 100 (B) 225 (C) 196 D) 625
97. WY G % T T HH-T1 A& JARAM?
B F @
REE- %
. M ? H
@ K ®) L "5 O » A O I
98. CLRTBQSMAPDINFJKGYX
FR & A& °, Frafafea o= & 4 4, @Wﬁ@ﬂ%aﬁtmwwﬁtsﬂﬁﬁﬂqm TE
TR?
1. 186
2. - MDP
3. NKJ
T
5. AID ,
(A) AID (B) MDP (C) IXN¥ ' (D) TSQ
99. 919 f23 u Heiy Y -t wE i et 27
dgee : 9:: peard : ¢
A) 11 (B) 13 © 7 : D) 15
100. e &1 Sfdad, gaar 12 W5 H gsat 81 A B &1 5 14w #i gen & @ 36 a6, T =
STeaw forg fom smm?
(A) WHHER (B) Fewfdar (C) WTear (D) wfFER
JSA-I 28
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94.  Which two signs should be interchanged to make the given equation correct?
(72 +18)+30x 8 -4 =20 '

A + a_nd - (B) + and.x (C) xand= (D) +and=+

95. The speed of a train, excluding stoppages, is 108 km per hour. Including stoppages, the
speed is 90 km per hour. For how many minutes does the train stop per hour?

A 5 B 9 C 8. (D) 10

96. If three numbers are in the ratio of 3: 5: 7 and twice their sum is 60, find the square of the
largest of the three numbers. :

(A) 100 B) 2256 . (C) 196 D) 625

97.  What letter will come in place of question mark?
B-F Q
U C A
M ? H
&) K B) L © D Syl

98. CLRTBQSMAPDINFJKGYX

. Four of the following five drawn from the above arrangement of letters are alike in a
certain way and so form a group. Which is the one that does not belong to the group?

TsQ
MDP
NKJ
JXY
T

(A) AID (B) MDP © JIXY -~ (D) TSQ

S

99.  Which number will best complete the relationship given below?
Baseball : 9 :: Football : ?

4 11 B 13 )y 7 (D) 15

100. Leela’s birthday falls on Wednesday 12t» May. On what day of the week will be Priya’s
birthday in the same year if Priya was born on 14t" December?

(A) Monday (B) Thursday (C) Tuesday (D) Saturday
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JSA-I s YU T E.

=5t forga Tamafie sgaam geum, FUs
FHiE givaeg aes (A1, 4. & @, 9 & F) F 2 i wdl, fagmaa 4. 12022

Fel Hrafed THYT : 2 6L 30 e Tl ATAFTH 3% : 500
mmmmaﬁﬂmﬁmﬁﬁaﬁ&ﬁaﬁm#m}

Agcaqur fader

1. i el o # frefefaa 3w R #
quY | (e fed w77 - 90 fe)

T T ST E. fO=wan 3w , FaTfea 3w
: ©200 IR A FE
FIFTRR S T " (TS HET Ical & fav &1 37) FoRE sy
AU 11 (FTa e THT - 60 A0 ; :
g TRAT HT siftrsan 3w . Aeifea 3F
150 e
HHG AETHSHAT 50 (R T e T e s U I 3ok & (o0 U #91ed 3%
; 150 "
3T smeT 50 (T T 3 5 T e 3i) e 9Te7d 3ol & [T U A9Ted 3

2. wfadfer R e & v sieart  Pmfaf@a gt & gk s o far smee:
FF1- 991 - 91: 10:00 3R 11:30 T & &
HIH- 9901 - 91: 11:45 AN 1245 T H
W |4 o forg verm omr vA fet s _
Tl T & FHIC Bl & a1, AT T 9ea1-95 AT &l g1 |

3. e fovge & qEd SEheERt & R v e & i & e A d R Wl R e & 31 et 3 i el gvs gt #) AR e
# g R rd e ¥, & gy e i Fers e g AR G e gRe HY aeren g

4. 3R T F MY A AT AR RV 70 R T AT GG FT g g e gt ¥ Fo v A

5. s WA & 9% FweT £ - : (A), (B), (O) mm)immwaﬁﬁmmommw#wWMrmMmmﬂ
TR @d Seatt i Fan & YR W IR F i fow smer

6. OMR 3ca0-99 H Tl W o TTHe O Afher § ® . @3111@ I 3o Tl o 3cal et o ToTe JTent el a1 el T8 & afer Sase 97 & Tl
2T 3 T 31l e 7 el U Weohel HIeh Ll B1TT1 TRA-GIEaT 7 Wedish W3 & [o0 U 3cok 7 99+ 9 Scad-a9 & A | T 319 v w9
3 oI e @ 3R S A U §, A SR Y It I ST SATR0T 3 Fore el s 35 Fore (B) i S & a3 FrstegaiTt s ager g

O EONO)
7 mwmmaﬁrgmmmmmaﬁmammmtmmmmmtmmmmmm
9 I G §iet & &G o S T HegATT TET & | HTIHL I TR Cks

8. wea-qitaw ¥ sifow geo 3 vea el w1 viga, Sl Fo Foam wr R s awar, ma-qRasd w6 $1 7 A 511 3 aE ¥ T R s et
9. wef fawai # 3k Wi F Awel A, 30 aeie sifaA B

10. - IR el & & Rl a7 o JregoTer 7 Y 9T 3o Rreg e s o enfe i o weelt &, Forw oty déwameng & want it g
= fad & e e S|

1. ey SRl AgeaqoT ARl 1 9eT & 3R SR & # g el €

T ¥ geani o 3FAIEAR & gEane 3R adE
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